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RStudio File Edit Code View Plots Session Build Profile  Tools Window

3 Debug Help 9H3H(8) 19:28

[ ] ® RStudio

Q- 2~ Go to file/function ~ Addins ~ R] Project: (M
hoh AA ME O @ Untitled1* = @7 Untitled2* » @7 Untitled3* » @ cake.R* study =0 i History C i Tutorial 1
& A k ; 5 SourceonSave = O /- =Run | 5% _$» Source ~ @ [ PlImport - % 171MiB - List ~
D IER% 16 openl = (yakult[1:20,2]-min(yakult[1:20,2]))/(max(yakult[1:20,2])-min(Cyakult[1:20,2])) R ~ (7} Global Environment ~
A=l 747k 17 titlel = (yakult[1:20,3]-minCyakult[1:20,3]))/(max(yakult[1:20,3])-min(yakult[1:20,31))
<% y ) y , y ) y , ; . "
18 bougyol = (yakult[1:20,4]-min(yakult[1:20,4]))/(max(yakult[1:20,41)-min(yakult[1:20,41)) inp2 num [1:20, 1:4] 0.182 0.273 0.
BEEB0Ty sEEEEss 19 daritul = (yakult[1:20,5]-minCyakult[1:20,5]))/(max(yakult[1:20,5])-min(yakult[1:20,5])) kekka num [1:20, 111111111 1.
20 inp2 = cbind(openl,titlel,bougyol,daritul) kekkal num [1:20, 1] 87 87 87 87 87 ..
Q F—yREOTMEM 0Ty 21 inp2 D study List of 15
o e 5 g :e:}yf’“ = predict(study,inp2) tekiyou num [1:20, 1] 0.574 0.574 0.5..
v ekiyou
2 2 — 24 4 © yakult 20 obs. of 6 variables
T [BfIE =T URBR 1 25 kekka =round(tekiyou) Values
2| 0287 66 26 ; )
3 0.273 87 27 kekkal = kekka*(max(yakult[1:19,6])-min(yakult[1:19,6]))+min(yakult[1:19,6]) Files Plots Packages Help Viewer Presentat .
4 0214 84 sg kekkal B Export
5 0267 74 30 . < N - N
— N
e |k AL ANTZHBOHZ TLIZE 0]
U g0 o Console  Terminal Background Jobs P | b
8 | 0.255 78 ROTE & T
R .2.3 - ~/Desktop
9 0.29 68
[3,] 8
10| 0.255 55 4] 8
11| 0236 73 [5,] 87
12| 0.255 75 [6,] 87
13| 0.264 70 [z,] 87
14| 0247 64 Eg’% g;
15| 0.245 78 4
[10,] 87
16 0.249 62 [y 87
17| 0.253 69 [2,] ss
18| 0251 60 [13,] 55
19| 0246 77 ria.1 87
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1 L7=csv7 7 1)L

BOMNEFENT-2003FEH H2022F F T, TDL D LHBAZI Ttrue/s b, false?x 50
TH8F, (BET 2—1(true))

baseball

tY—YF—L @HTS BTH KFIM HFAYSR HERTH EEFSNHFEHSEDoK W3 HFER—LASYE HEREFSHEE A—T7VBTIMLULE A-—T7VETIOMUT ZRWTSHULLE
2003 (R##) 1 0 0 0 1 0 0 0 0 1 0

2003(F 2L k) 0 0 0 1 0 0 0 0 0 0 1 0
2003 (#i%) 0 1 0 0 1 1 0 0 0 0 0 0
2003(L8) 0 0 0 0 0 0 0 0 0 1 0 0
2003(EA) 0 0 1 1 0 0 0 1 1 0 0 0
2003(FH) 0 0 0 1 0 1 1 0 0 1 0 0
2004(7 )L R) 0 0 0 0 0 0 0 1 0 0 0 0
2004 (&) 0 0 1 1 0 0 1 0 1 1 0 0
2004 (%) 0 1 0 0 1 0 0 1 0 0 1 0
2004(:8) 0 0 0 0 0 0 0 0 0 0 0 0
2004(EA) 0 0 0 1 0 1 0 0 0 0 0 0
2004(+H) 1 0 0 1 0 0 0 0 0 0 0 0
2005 (I:8) 0 1 0 0 0 0 1 0 0 0 1 0
2005 (FR##) 1 0 0 0 0 0 0 0 0 0 0 1
2005 (Hi%) 0 0 0 0 1 1 0 1 0 1 0 0
2005(EA) 0 0 0 1 0 0 0 1 1 0 0 1
2005(FH) 0 0 1 1 0 0 0 0 0 0 0 0
2005(F )L k) 0 0 0 1 0 0 0 0 0 0 1 1
2006(FH) 1 0 0 1 0 0 0 0 0 1 0 1
2006 (fR#) 0 0 1 1 0 0 0 0 0 1 0 1
2006 (##i%) 0 1 0 1 0 0 0 0 1 0 0 0
2006(EA) 0 0 0 0 0 0 0 0 0 0 0 0
2006(¥ZILH) 0 0 0 0 0 1 1 0 0 0 1 1
2006 (=) 0 0 0 0 1 1 0 1 0 0 0 0
2007(¥ 2L k) 0 1 0 1 0 0 0 0 0 1 0 0
2007 () 0 0 0 1 0 0 0 0 0 0 0 0
2007 (#i%) 0 0 0 0 1 1 0 0 0 0 1 1
2007(:8) 0 0 0 0 0 0 0 0 1 0 0 0
2007(EA) 1 0 0 1 0 0 0 0 0 0 0 1
2007(sFH) 0 0 1 (] 0 0 1 1 0 0 0 1
2008 (= 8) 0 0 0 0 0 0 0 0 0 0 0 0
2008(EA) 1 0 1 1 0 0 0 0 1 0 1 1
2008(7 )L R) 0 0 0 0 1 1 1 0 0 0 0 0
2008 (&) 0 0 0 1 0 0 0 0 0 0 0 1
2008(FH) 0 0 0 1 0 0 0 0 0 1 0 0
2008 (##i%) 0 1 0 0 0 0 0 1 0 0 1 0
2009(EA) 1 0 1 1 0 0 0 0 0 0 0 0
2009(¥ZJL ) 0 0 0 0 0 0 0 0 1 1 o] 1
2009 (FR##) 0 0 0 1 0 1 0 0 0 0 1 0
2009(FH) 0 0 0 1 0 0 0 0 0 0 1 0
2009 (HER) 0 1 0 0 1 1 1 1 0 0 0 0
2009 (:8) 0 0 0 0 0 0 0 0 0 0 0 1
2010(FH) 1 0 0 1 0 0 0 1 1 0 0 0
2010(EA) 0 0 1 1 0 0 1 0 0 0 0 0




a— b

yusyou = read.csv("baseball.csv",header=TRUE,row.names=1)
yusyou = as.matrix(yusyou)

yusyoutr = as(yusyou,"transactions")

summary(yusyoutr)

inspect(yusyoutr)

itemFrequency(yusyoutr)

itemFrequencyPlot(yusyoutr,ylim =c(0,1))

ws ourule = apriori(yusyoutr,parameter =
ist(maxlen=4,support=0.04,confidence=0.3,ext=TRUE))

inspect(yusyourule)
yusyoudairule =subset(yusyourule,subset=(rhs %in% "???"&(lift>1.0)))
inspect(yusyoudairule)
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lhs rhs support confidence coverage lift count

[1] {10, +— 7 ¥ T10RI LU —> {{BBs9 %} 0.04166667 0.8333333 0.05000000 5.0 5

[2] {REFE 1AL, 278 ThHAr A L} —> {84 %1} 0.05000000 0.6666667 0.07500000 4.0 6
TR THATL —> {{8Bs9 %} 0.07500000 0.5000000 0.15000000 3.0 9

T & A B s x 2 B x x 85 5 8 4
a Eal x
O

2 GA;-’% VIR 18 1 7 0 .61 0O 0O 8 65 16 6 .266 330 8
O 3 @EA 18 1 7 0 .61 0 0 72 55 25 9 274 3.00 5

4 Wy AUy 18 11 7 0 611 0 0 66 56 15 7 .232 275 8

5 <F}E|:::/\L\ 18 10 8 0 55 1 0 59 45 19 10 .238 224 10

DeNA7 > Fx »
HWZH?7?7?

9 0 .500 1 0 65 8 14 8 .260 429 12

9 0 .500 0 0 61 76 7 13 238 3.87 13

3 I 68 4 4 e e
4 EBA 143 68 72 3 05 O s P 18] | 40| | 2| 65| 0| 54| 68| o)) 1| a2 e | o
5 7
= 7

10 1 412 0O 0O 58 66 5 13 .210 323 17

,Z\-% ]43 66 74 3 2 10 @fﬁﬁ 18
H 143 66 75 2 05 & "o

11 0 389 05 0 69 65 13 5 251 353 6

12 0 .333 1 0 48 62 M 8| 212 | 3147 | 10

$1.2022F % - U —7IEAL 2.5 F O3 RENEL
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lhs rhs support confidence coverage lift count

[1] {FEEHKEFBHEEK] => {AZ 5 %} 0.10000000 0.6000000 0.16666667 1.200000 12
2] {#—7" 83 L] =>{A% 5 2} 0.13333333 0.6956522 0.19166667 1.391304 16
(4] {REEF—L TV F} => {A% 5 2} 0.10000000 0.5217391 0.19166667 1.043478 12
(6] {378k THMrA L) => {A7 < 2} 0.18333333 0.6666667 0.27500000 1.333333 22
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IR7E DJEI

DeNADMBERET 2 DIE7Z W3 L LW TT

I8 — BB B o3 BB 28 x sy 2

1 a Ak s x 2 B 5 5 2 2 x 8

1 121 73 44 4 624 M14 22 480 368 67 66 .247 2.72
2 124 | 67 | 53 | 4 | .558 7.5 19 439 434 84 69 .246 3.13
3 121 | 61 | 57 | 3 | .517 5 22 461 428 91 | 26 | .251 | 3.24
4 121 60 60 1 .500 2 22 469 466 145 41 258 3.69
5 122 48 71 3 .403 115 21 448 492 101 56 .238 3.72
6 121 46 72 3 .390 15| 22 | 338 | 432 571 32| 241 | 3.19
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mhy

lhs rhs support confidence coverage lift count
[1] {(BEENVHEEL O ZE D -7} =>{B7 7 X} 0.14166667 0.5666667 0.25000000 1.133333 17
2] (BEENHEELIOEh -7, EFEEMITEWS} =>{B27 7 X} 0.04166667 0.6250000 0.06666667 1.250000 5
3] {FEEH&TAL BEE’EEL O E L - 72} =>{BZ7 7 X} 0.083333330.6666667 0.12500000 1.333333 10
[4] (BB EELNOE D7z, =7 VETIORU T =>{A2 7 X} 0.04166667 0.5555556 0.07500000 1.111111 5
5] (FEFEAV 7 X, BB EDEED BE D o 72} =>{A7 7 X} 0.04166667 0.7142857 0.05833333 1.428571 5
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lhs rhs support confidence coverage lift count
(1] {FEEH—L T v E]} =>{A2 Z X} 0.10000000 0.5217391 0.19166667 1.043478 12
2] {(FEEAY R, HEEFR—L TV E}=>{A7 7 X} 0.05833333 0.5833333 0.10000000 1.166667 7

FEFDOELITEDL WD T — L

lhs rhs support confidence coverage lift count

[1] {(FEEBERMFTE WD) => {BZ 7 X} 0.10833333 0.6500000 0.16666667 1.300000 13

2] {(BEBAREEL BB b > T, FEBEMFIEFHE WS} => {BZ 7 X} 0.04166667 0.6250000 0.06666667 1.250000 5
3] {FEFEAY 7 X, FEFEENFTEHE WS} => {BZ7 7 X} 0.04166667 0.5555556 0.07500000 1.111111 5

VEE D BRIESHEHEAWS F— L

lhs rhs support confidence coverage lift count

[1] {(FEEHEFBHEEK) =>{A2 7 X} 0.10000000 0.6000000 0.16666667 1.200000 12

2] {(EEREFHEZ, 2SRE Tl L} => {A7 2 X} 0.04166667 0.7142857 0.05833333 1.428571 5
3] {FFEAY 7 X, FEEREFHEIZEX =>{A2 77X} 0.05833333 0.5833333 0.10000000 1.166667 7
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